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Exercise 4.2

Question 1:

Which one of the following options is true, and why?

y=3x+5has

(i) a unique solution, (ii) only two solutions, (iii) infinitely many solutions
€. Answer 1:

(iii) Infinitely many solutions

Because a line has infinite many points and each point is a solution of the linear equation.

Question 2:

Write four solutions for each of the following equations:

(i) 2x+y=7 (ii) tx+y =9 (iii) x = 4y
€. Answer 2:

(i) 2x+y=7=2y=7—-2x

Puttingx = 0, wehave,y=7—-2x0=7, therefore, (0, 7) is a solution of the equation.
Puttingx = 1, wehave,y=7—-2x1 =35, therefore, (1, 5) is a solution of the equation.
Puttingx = 2, wehave,y=7—-2x2=3, therefore, (2, 3) is a solution of the equation.
Puttingx = 3, wehave,y =7-2x3 =1, therefore, (3, 1) is a solution of the equation.

Hence, (0, 7), (1, 5), (2, 3) and (3, 1) are the four solutions of the equation 2x + y = 7.

(ii) tx+y=9 =>y=9-mx

Puttingx = 0, we have,y =9 —nx0 =9, therefore, (0, 9) is a solution of the equation.
Puttingx =1, wehave,y=9—-nx1=9—m, therefore, (1, 9 —m) is a solution of the equation.
Puttingx = 2, wehave,y =9 —-nx2 =9 —2m, therefore, (2,9 — 2m) is a solution of the equation.
Puttingx = 3, wehave,y =9 —-n X3 =9 - 3m, therefore, (3,9 — 3m) is a solution of the equation.

Hence, (0,9), (1,9 — ), (2,9 — 2w) and (3, 9 — 37) are the four solutions of the equation nx +y = 9.

(iii) x =4y

Putting y = 0, we have,x =4 x 0 =0, therefore, (0, 0) is a solution of the equation.
Puttingy = 1, wehave,x =4 x 1 =4, therefore, (4, 1) is a solution of the equation.
Putting y = 2, wehave,x =4 X 2 =8, therefore, (8, 2) is a solution of the equation.
Puttingy = 3, wehave,x =4 x 3 =12, therefore, (12, 3) is a solution of the equation.

Hence, (0, 0), (4, 1), (8, 2) and (12, 3) are the four solutions of the equation x = 4y.

Question 3:

Check which of the following are solutions of the equation x - 2y = 4 and which are not:

(i) (0,2) (i) (2,0) (iii) (4.0) (iv) (V2,4v2) v) LD
€. Answer 3:

(i) (0,2)

Given equation: x — 2y = 4

Inx —2y = 4,putting x =0andy = 2, wehave,0 —2x2 = -4+ 4

Therefore, (0, 2) is not a solution of the equation.

(ii) (2,0)
Given equation: x — 2y = 4

Inx —2y =4,puttingx =2andy =0,wehave,2 -2x0=2 % 4
Hence, (2, 0) is not a solution of the equation.
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(iii) (4,0)
Given equation: x — 2y = 4
Inx —2y =4, puttingx =4andy =0, wehave,4 —2x0=4
Hence, (4, 0) is a solution of the equation.
(iv) (vV2,4v2)
Given equation: x — 2y = 4
Inx — 2y =4, putting x =v2 andy = 4V2, wehave, V2 — 2 x 4V/2 = -7V2 # 4
Hence, (\/i, 4\/—2—) is not a solution of the equation.
V11D
Given equation: x — 2y = 4
Inx —2y =4, puttingx =1landy =1, wehave,1-2x1=-1+4
Hence, (1, 1) is not a solution of the equation.

Question 4:
Find the value of k, if x = 2, y = 1 is a solution of the equation 2x + 3y = k.

€. Answer 4:
Given equation: x =2, y=1
In2x + 3y =k, puttingx = 2 and y = 1, we have,

2X243x1=k
=>k=7

Hence, the value of kis 7.
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